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nvx 132 — For instance 'nvx.

Overview

The X723 asked, if we are deriving 2°1w '3 P from the three Nl of W
7317, then we should not require three years but rather three harvests.
Therefore, since figs do not ripen at the same time, if three figs were
harvested in one day, it should be considered three m>°2x, since all three figs
ripened at different times (in this same day). The X3 responded that figs
are different from 73127 MW; by 737 MW when the first 7m°31 happens the
second 1m°1 does not exist at all; however by figs all three figs were on the
tree at the same time on this one day. [It is just that they do not ripen at the
same time.] Therefore it cannot be considered as three harvests, but rather as
one harvest. The X723 continues to ask that (nevertheless) in the case of 773
if one harvested three fruits (in three daysz) it should be considered a 7IpI7.
The X3 (again) answers that 7% is (also) different from 7777 W, because
by 7%% when one fruit is harvested the others are there; they are just not ripe.
This concludes the excerpt of the relevant Xn3. It would seem at first glance
that the answers to the two questions of 71Xn and 77% are identical. All three
fruits are there (at the first harvest) but they are not ripe. The question is;
that once we already made this distinction by 718N, why did the X773 repeat
the seemingly same question and answer by A%%. moown will offer two
resolutions to this question.

mooIN responds to the apparent difficulty (mentioned in the overview):

IRn® 795 w7 *[23 ¥ n8] (An3) — Even though the x»3 already answered
why figs are different than 777 Mw; that all three figs are on the tree at the same time.
Seemingly this answer should apply to 77% as well; nevertheless, the X3 —

nox» 70 — challenges the assumption that we derive 0%1w "3 npin from MW
797, from n®X. The reason why the explanation that 7IXn is not comparable to W
7919171 is not sufficient to distinguish 77X from 7v7 MW, is —

mRn7— for the fig that remains of the tree when the first fig is harvested —

N7 779178 — it is a large fig —

T9ORT 32 INTcam Phunw aywa — at the time when the other fig is taken off
the tree —

7Y Thwani XYW X9 — however it is not ripe yet. It is not comparable to MW
7y at all. By 7917 7w when there is the first 77°21 there is no second 7r°a1, however by
a 71IXN, the second 7IXN is sufficiently large (albeit not ripe) to be considered a fruit, when
the first 7IXn is picked.

! A% is translated as a ‘caper-bush’; a plant with edible buds (flowers, and shoots).
% See the variant X0 in the 0"w n107; TR 012, See footnote # 5.
3 The deletion of the parenthesis and insertion of the brackets, follows the emendation of the "7 na.
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nox YaX — however 09X is different from 73xn, because -

7297 %957 Jup — the remaining 72% fruit that will be harvested on the
successive days is extremely small —

nnRT owuws — when the one ripe 7%% fruit is taken off the tree. Therefore it
may be considered similar to 7¥%7 W, that when one fruit is harvested, there is not
really another fruit on the tree than can be truly considered a fruit, since the remaining
fruits are extremely small.

moon will prove this point that the remaining 7% fruit, is too small to be considered a
fruit:

(3,>77) NAW3 MRTS — as the X2 relates in Naw NO07; HX°9n3 121 stated -

21 Ho2 NP UYWL NUYIR PTONY — it is destined X12° 7nyL that trees will
bear new fruits every day. When one student heard this —

7o%%0 IR 19 2035 — this one student mocked this statement; it cannot be true
for it is written in *n%mp —

wnw nnn wIn 9o X — there is nothing new under the sun. Therefore since
nowadays we have no trees that bear fruit every day, therefore 5"¥% it cannot be possible
either. In response to this mocking student, X513 127 —

n=x 179% "8 — showed the student the 79X tree, as a refutation to his mocking; that
even nowadays there is the 77% tree that bears fruit every day. Therefore it is possible that
2"v7 trees in general will also bear fruit every day. However our X723 states that even by
n%%, the fruit that ripens on one day was already on the tree the previous day(s). We must
therefore conclude from these two nmnx that 7%% is considered to produce new fruits
every day, since the fruit of yesterday was insignificantly small to be considered fruit.

mooin offers a different approach:

R@M2 o393 DR w2 — However, the 11" emends the text to state first
the challenge that it should be a 7P if one harvested —

X 135 KB T2 X1°D Knwn — ‘three fruits in one day; for instance *nbx -
M3 M b v2 wow — which has three fruits simultaneously in the same
day”’ —

£33 5277 9n2Y — and after the (question and) answer concerning 77¥, that all
the fruits are present on the same day; the text reads an additional challenge
‘that if he ate three fruits (in three days) —

778N 130 — for instance figs it should be a npm’. The reason the X3 can ask from
TIRD even after it explains why 77% is different than 797 W is, that by 79% all three
fruits ripen on the same day, therefore it is considered one harvest. However by mixn

4 oK.

> This is different than our 0" which states first 78N 7130 K11 T2 XD Xnon. See footnote # 2.

® See *"w1 in MW N3on who states that n%% produces three types of edible fruits mwn3) 1722721 1P0°15P MR
(Mnn =1, 7 Mwyn [berries, flowers, and shoots]. Perhaps the 1" is referring to these three fruits which
ripen (or are ripe) on the same day.

2

TosfosInEnglish.com



722 7"7 '0n 2,m0 2"2 .72

since the three fruits ripen on three separate days that should be considered as three
harvests.

m»oIN is not satisfied with the X072 of the 1":
naw<s X1 — however that X723 in naw NOOn, that was previously quoted —

bW av9po2 yRrws — indicates that the correct reading is like in our text; that
the 72% fruit ripens on consecutive days [*»1° Xn>na] and not on the same day [TnX 01°2].
The X3 there used 77X as an example that a tree can produce new fruit every day.
According to the "1, however, it seems that the three fruits are ripe on the same day’.

Summary
There are two ways of reconciling the seemingly redundant questions and

answers concerning 718n and 77%.

A. mRn is different than 7vm7 MW, since the remaining fruits (that will be
harvested during this day), even though they are not yet ripe, nevertheless
they are large. By 7% however the remaining fruits (that will be harvested
on the successive days) are insignificantly small and should not be
considered as present.

B. (") q7% is different than 7957 W since all three fruits are present and
ripe(n) in the day they are harvested. By 71380 however, the fruits that will be
harvested in the successive days, are not ripe as of yet.

Thinking it over

1. According to the X1pon of our X7mx that concerning 7%, the fruit of the
successive days exists already (7°n°X X7°n X7%9), how are we to understand
the X3 in Naw, which states 7%% % “R to prove that AYLW MUK PNy
01 952 M ?!

2. What are the advantages of r1"1 w17°9 over the first answer of n»oIN?

" See '1 MR 7"210, that the 873 in N3 is not a refutation of the n"A.
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